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1. YA BT ST <4 THA S Y9 T YT U W AR TE €, SN
feqeht W a&T 991 He feram sifer € |

While answering your questions, you must indicate on your answer-
book the same. Questions no.as appear in your question paper.

2. o YA ok GHT AT ok 3T T B IH WS |
Attempt all parts of'a question at one place.
HIT-37 (Part-A)
e USTEHET 19 10 qek | fou T faeheut ® @ gt faeeq
EIRCRICEETS

Note :- Question numbers 1 to 10, select the correct option from the
given alternatives.

1. %A IAE (TP T TR I TaT ST € 2
Total product is calculated by :

() FHed IR - AEd 3"
A 1 TR
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(@) oA IS = 3 ITUIE + 9T 1 SRl
() T IS = AT ITUE x 9H 1 SRl
(%) 570 4 iE T &l

AP
(a)TPZT (b) TP=AP+L
(c)TP=APxL (d) None of these

2. IcUIe ANTd fohdd YRR hi eIl & |

How many types are there of production cost ?

() & (@)
(1) ¥R (%) i
(a) Two (b) Three
(c) Four (d) Five

3. 3i9d 3T 1 g
What is the formula of AR
(W) 3itad STRTH = et ST x A
(@) 3i9d 3T = Fol SR + [
(71): 3T 3T = FHel STH - T

(%) 3ftad 3TTH = el 3TH
Pl
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5.

(a) AR =TR x Q (b) AR =TR + Q

TR
(c)AR=TR-Q (d)=AR=E
YO & FARA oo, H AN B4 § | STeqehrel/SlefhTel
Returns to scale applicablein.................. short period/Long pe-
riod

frafafeqd R AT HET® 2

Which of the following is correct :

(%) TC=TFC+TVC (™) TC=TFC x TVC
(7)) TC=TFC+TVC (¥) TC=TFC-TVC

(a) TC=TFC+TVC  (b) TC=TFC x TVC
() TC=TFC+TVC  (d) TC=TFC-TVC

qfd SR A H ... i) YT ST © | (SO /=TT )
Relationship between supply and priceis...................... (Nega-
tive/Positive)

Fimd fade frg TR A Gua § 2

Price discrimination is possible in which market ?
() ot gfcanfirar (@) THIIHER

(1) eI IRAATRTT (¥) $76 | &g 1781
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8.

9.

(a) Perfect Competition (b) Monopoly
(c) Monopolistic competition (d) None of these

ot gferifrar st ferfa & ima ... e et e |

(RIH/SEIT)
In perfect competition price is determined by .............
(Firm/Industry)
gafI=ss fag wa g e ?
When is Break-even point ?
() TR<TC (@) TR>TC
(7)) TR =TC (9) 379 9 &8 ot T&1
(a) TR<TC (b) TR >TC
(c) TR=TC (d) None of these.

10. U Y i B et St & 2

How many categories are there in elasticity of supply ?

(%) & (|) 9=
(M) @ (%) =’
(a) Two (b) five
(c) Three (d) Four
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11. =1g &1 U9

Attempt any two questions 2x2=4)
(%) st ARTa qe gRadTeie anTd § F Haw e ?

(a) What is the difference between fixed cost and variable cost
(@) 379d Ic1E AR Hid 3cae | oY ey |

(b) What is the Relationship between Average product and Mar-
ginal product ?

(1) gfd o T & ST9arE Jasy |
(c) State the Exceptions to the law of supply.
12. TS BT U9 &
(Attempt any two questions) : (3x2=06)
() 319 AT 9ok U-3ThR R el & 7
(a) Why the average cost curve is U-Shaped ?

(@) UM & gfawa 3T 9reH o gfawal | 37T TIs hifsiy |

(b) Explain the difference between Returns to the scale and Returns
to a factor.

(1) T= aferent sl gU SHIfSTT

(c) Complete the following table :
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RIniGC] A WM | 37Td Higid ST | 3TTH ¥ (MR)
I gHEA Q | % (TR) % (AR)

1 10 _ _

2 16 = =

3 18 _ _

4 16 _ _
13, f1=1 & @ forel Tk T99 1 ST ST (5%1 =5)

Answer any one from the following :
(%) i & Frem =1 Tates |isd =men 1Sy
(a) Explain the LAW of Supply with the help of Diagram.

(@) WA Hivd 9 3779 1 9uerd & 2 got giaifia § dqed
HHd o 0T ol R ST |

What do you understand by Equilibrium price ? Explain the equilib-

rium price determination under the perfect competition.

-9
(Part-B)

e : U9 HE&AT 14 9 23 U {qU U faencul § 9 et faehed ol

A |
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Note : Question numbers 14 to 23, choose the correct option from

the given alternatives.

14. U ® -
Multiplier is :-
AY AY
@) g ®) 7
Al AY
© 1y O v
15. rcatfrs Wi ot ferfa F e @ agt € ?

16.

17.

In case of Excess demand which is correct ?
(a)AD > AS (b) AD <AS
(c)AD=AS (d) AD xAS
ok o1 fagia fepe fean € 2

Who gave the concept of multiplier ?

(%) Te fa (@) Hwfd

() AESTH H (F) 370 9 hE i 781
(a) Adam Smith (b) Marshall

(c) Lord JimKeynez (d) None of these

I frew et wean @ -

Induced Investment depends upon :-
() A AAAH W (@) s=d a1 o W
(1) & qAT @ Ml (91) SUed H | g ot T8l
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18.

19.

20.

(a) Income and profit (b) Saving and Investment

(c) aand b both (d) None of these

8 X 519 W F=Ta d Amifen St 1 R0 <1 & fag Tan
BT

() =S (@) d& R

(1) & qAT W@ AT (%) ST § T IS ot &1
(a) Rate of Interest (b) Bank Rate

(¢c)aand b both (d) None of these.

WA T A Ak hA o 2

Which is the Central Bank of India ?

(%) W2 S A1 sfvean (@) Rerd S& 31w sfoean
(1) & qAT G ST (%) 378 @ &g ot et
(a) SBI (b) RBI

(c)bothaand b (d) None of these
frefafes § sF-T @ R E ?

Which one of the following is direct tax ?

() forshl ot (@) o] e Harl ol
(TT) 37T H (1) % ot T&T
(a) Sales Tax (b) Good & Service Tax
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(c) Income Tax (d) None of these

21. Hfeld sSTe =
Balanced Budget =
() AT = A A (W) F 7 > oA A
() FATT< FA A (F) 30 9 Hls I 6l
(a)TE=TR (b) TE>TR
(c)TE<TR (d) None of these
22. &l frafa sivd s1TuTa 1 shima & Siferer STt & a1 <91 1 AR
RJ1: SR BIA1® | (STgHei/dfage)
When the price of Export is greater then price of Import in such
case the Balance of Trade of a countryis ............ (Favourable/
Unfavourable)
23. fAfafed & @ wH-di e gz ?
Which of the following is near money ?
(%) fafa o (@) W 3R w8
(1) i feret (1) 3qU GHT
(a) Bill of Exchange (b) Share and Bond
(c) Treasury Bills (d) None of these
24, hIg ST YT Y :-
Attempt any two questions (2x2=4)
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(%) ‘|’ % ISR 7= &1 9o |

(a) Explain the Say’s Law of market

(@) afc MPC &1 §&& = 0.5 Tl T[0Tk 1 o J1d HiTIT |
(b) IfMPC =0.5 what is the value of multiplier ?

(1) 3TTCeT {1 AT =1 ST i IRHTET SIS |

Define the definition of Fiat money and Fiduciary money.

25. hIE a1 U9 &t :-

26.

Attempt any two question : (3x2=6)
() 37Tl W qerT sTfyes Wi H R ST ?

(a) Difference between Deficient Demand and Excess Demand ?
(@) eI frd Fed € ? & IR R e A © ?

(b) Define money ? What are primary functions of money.

(1) BTSSR T aTee] oS | 3 T ! ?

(c) Explain the difference between Spot Market and Forward Market.
=1 0 | fordl T 9 R SW I (5x1=5)
() H51a ok w1 IR T | ST & HET H1 quA
i |

(a) Define Central bank. Explain the main function of Central Bank
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(@) VTTAaE 99 B 3Tder fohd ShRui @ g1 e 2 IR Shifee |

(b) What are the causes of disequilibrium in balance of payment ?
Explain.
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